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Jim has 3 bugs.  He got 4 
more. How many bugs does 
he have now?

Name: ______________________________

________  + ________ = ________



Cam has 6 worms.  He got 
3 more. How many worms 
does he have now?

Name: ______________________________

________  + ________ = ________



Kat has 7 flowers.  She 
found 5 more. How many 
flowers does she have now?

Name: ______________________________

________  + ________ = ________



Meg has 11 butterflies.  She 
got 3 more. How many 
butterflies does she have now?

Name: ______________________________

________  + ________ = ________



Jim has 3 bugs.  He lost 2
of them. How many bugs 
are left?

Name: ______________________________

________   - ________ = ________



Cam had 6 worms, but 3 of 
them crawled away. How many 
worms does he have left?

Name: ______________________________

________   - ________ = ________



Kat planted 7 flowers, but 
3 of them died. How many 
flowers does she have now?

Name: ______________________________

________   - ________ = ________



Meg has 12 butterflies. 8 of 
them flew away.  How many 
butterflies are left? 

Name: ______________________________

________   - ________ = ________


